RILKRE T ZERBME A B A XS

TR - o o ol X5 #E M O N

EEX RS

] |=]|X

ARMRA AM: | R
BTy - (40%) SEERA CPRRILERNE  BREMERBESREE —H  YEEe
B 46 8 A S )
o x*+3x-10
l. lim ————
=5 x 45
2. lim 2032
=0 sin 8x
3. Find i1—(su‘in" xz)
dx
4. Find an equation of the tangent line (i) to the curve x* +xy—y* =1 at(2,3).
5. Evaluate JT In xdx
6. Find [1——X g
0 1+sin” x
7. Find the directional derivative of f(x,y) =2xy-3y* at the point (5,5) in the direction of
V=47 +35.
8. Evaluate L: .[:xze" dxdy .
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1. A curved wedge(M2-T) is cut from a cytinder([EIf:HE) of radius 3 by two planes.  One plane is
perpendicular(FEE) (o the axis of the cylinder.  The second plane crosses the first plane at a 45°
angle al the center of the cylinder.  Find the volume of the wedge.
2. Use the method of Lagrane multiplier to maximize the function f(x,y,z) = x* +2y—z' subject
to the constraints 2x—y=0 and y+2z=0.
3. Find the interval of convergence (R E) of the series
$x
n=0 \/)12 +3
Z
4. Tind the volume of the solid D cut from the solid sphere p <1 by the cone ¢ = % . M |
Sphere p =
Cone ¢ = 1,'31
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